=~

PRESSURE IN BAI

e
§

o 50 100 150
I el L

TEMPERATURE

B 2 T &
200 250 300 350 400 450 500 550

Butt Weld

Threaded / Socket Weld

oK~ TG Z-4

€
®

L~ f
DN32~DN100 DN8~DN25 ‘

General Ball Valve
PN63 for DN8 ~ DN50

PN40O for DN65 ~DN100
Full Bore

FEATURES

* Investment Cast Body Construction AUTOMATION

* |SO 5211 Mounting Flange Design

* 3 Pieces Body Design / In-Line Maintenance

* Integral Seat & Body Seal Design for DN8 ~ DN25

* Blow-Out-Proof Stem Design

e Locking Device

* NACE MRO0175 is available upon request

* Super Alloy materials for highly corrosive medium are
available upon request

SPECIFICATIONS

* Size Range
* End Connection
* Working Pressure

DN8 ~ DN100 ( 1/4” ~ 4”)

Threaded / Socket / Butt Weld Ends
PN63 for DN8 ~ DN50 /

1000PSI ( CWP ) for 1/4” ~ 2"

PN40 for DN65 ~ DN100 /

800PSI (CWP ) for 2-1/2" ~ 4”

150 PSIG. Saturated Steam for PTFE.
-4 to 356 °F (-20 to 180 °C ) for PTFE.

e Steam Pressure
* Temperature Range

STANDARDS

* Design
* Mounting Flange
* Threaded End

EN-12516-1/2/3

ISO 5211

NPT/ BS 21 (BSP )/ BSPT /SO 228-1
/ DIN 2999 /ISO 7-1Rp

i
= ; e Socket Weld End ~ ASME/ANSI B16.11
23 ?j H1 — PORT@DBW
T XD e Butt Weld End ASME/ANSI B16.25
T H ﬂ | e Face to Face MFG / DIN 3202 M3/S13 @elailei
a3 ) * Material EN1503-1
[ L2~ .
a * Pressure Testing EN 12266
@/— — - — —PORT
@/ | CERTIFICATE
' PORT SW .

Oﬂﬁw - @ e Quality Assurance  1SO 9001
@] i'@ * Material Certificate ~ EN 10204-3.1 MTR
Oa Jﬁ be— 7 « CE Approval PED 97/23/EC Module H
MATERIAL LIST DIMENSION unit : mm
o MATERIAL PORT
NO. PART NAME ( more options available ) SIZE e L | L[ E | H [ HT| oK z C |G |L2|sw|@D|BwW
P — EN1503-1 1.4408 DN8 | 1/4” | 11.0 | 11.0 |63.7|21.0| 102 | 54 | 13 | 36 |[F03|M5x0.8P|5.45] 7.9 | 10 [14.2[11.0[13.7

EN1503-1 1.0619 DN10| 3/8” | 12,5 | 12.5 [63.7 |21.0 | 102 | 54 | 13 | 36 |F03|M5x0.8P|5.45| 7.9 | 10 [17.5|12.5]17.1
4 |BALL ASTM A351 Gr.CF8M DN15| 1/2° | 15.0 | 15.0 |65.7 | 22.5 | 102 | 55 | 13 | 36 |F03|M5x0.8P|5.45/ 7.9 | 10 |21.8]15.8]21.3
5 |STEM ASTM A276 Gr.316 DN20 | 3/4” | 20.0 | 20.0 |76.2|31.0 | 126 | 62 | 17 | 36 |F03|M5x0.8P|6.20|11.1| 13 |27.4|20.9|26.7
T — EN1503-1 1.4408 DN25| 1" | 254 | 254 |86.2|40.0| 126 | 66 | 19 | 36 |FO3|M5x0.8P|6.20(11.1] 13 |34.1|26.6|33.4

EN1503-1 1.0619 DN32 | 1-1/4"| 32.0 | 32.0 [102.8/50.0 | 154 | 90 | 27 | 50 |F05|M6x1.0P|9.40[15.8] 13 |42.7|35.1|42.2
11 |BODY SEAL PTFE. DN40 | 1-1/2"| 40.0 | 40.0 [119.4| 58.0 | 154 | 93 | 26 | 50 |F05|M6x1.0P|9.40(15.8] 13 |49.0|41.7|48.3
12 | SEAT RTFE.(15%G.F.) DN50| 2 |50.8 | 50.8 [131.4/70.0 | 188 | 102 | 24 | 50 |[F05|M6x1.0P|9.40[15.8] 16 |61.0]53.0]60.3
13 | THRUST WASHER PTFE. DIMENSION unit : inch
14 | STEM PACKING PTFE. p— .
15 | GLAND SS304 SIZE L [L1|E|H|H oK z C | G |L2|sSw|@D|BwW
19 |HANDLE SS304 [IRHETY]| (259
e T e DN8 | 1/4” | 0.43 [0.43]2.50|0.82|4.01]2.12|0.51 | 1.41 [F03|M5x0.8P | 0.21 | 0.31 |0.39]0.55 | 0.43| 0.53

DN10 | 3/8” | 0.49 |0.49]2.50[0.82[4.01|2.12|0.511.41 |[F03 | M5x0.8P | 0.21 | 0.31[0.39] 0.68| 0.49 0.67

23 | HANDLE WASHER SS304 DN15| 1/2° | 0.59 |0.59|2.58[0.88 |4.01|2.16 |0.51|1.41 |[F03 | M5x0.8P | 0.21 | 0.31[0.39] 0.85| 0.62| 0.83
25 | FANIDILE YT S5304 DN20 | 3/4” | 0.78 |0.78]3.00|1.22 [4.96 | 2.44 |0.66 | 1.41|F03 | M5x0.8P | 0.24 | 0.43[0.51| 1.07 | 0.82| 1.05
28 |LOCKING DEVICE SS304 DN25| 1" | 1.00 |1.00|3.39|1.57 | 4.96|2.59 |0.74 | 1.41 |F03| M5x0.8P | 0.24 | 0.43 [0.51|1.34 | 1.04| 1.31
35 |BODY BOLT $S304 DN32 | 1-1/4”| 1.25 |1.25|4.04|1.96 | 6.06 | 3.54 | 1.06 | 1.96 |[FO5| M6x1.0P | 0.37 | 0.62[0.51| 1.68| 1.38| 1.66
36 |BOLT WASHER $S304 DN40 | 1-1/2"| 1.57 |1.57|4.70|2.28 | 6.06 | 3.66 | 1.02| 1.96 |[F05 | M6x1.0P | 0.37 | 0.62[0.51| 1.92| 1.64|1.90
37 |BOLT NUT SS304 DN50| 2 |2.00 [2.00]5.17[2.75|7.40|4.01|0.94]1.96 |[F05 | M6x1.0P | 0.37 | 0.62[0.62| 2.40| 2.08] 2.37

md_sales @ms.modentic.com.tw
No. 9, Wugong 6th Rd., Wufeng Dist.,
Tel : + 886 4 23317777 * Fax:+ 886

Taichung City 413, Taiwan (R.O.C.)
423317771

© 2016 Modentic Industrial Corporation

Modentic reserves the rights to change the contents without prior notice
Materials with the registered trademark designation ® are typical materials
and owned by other respective companies

20161005-78/79/80md




General Ball Valve
PN63 for DN8 ~ DN50O

PN40O for DN65 ~DN100
Full Bore

* Investment Cast Body Construction AUTOMATION

* |SO 5211 Mounting Flange Design
* 3 Pieces Body Design / In-Line Maintenance

* Integral Seat & Body Seal Design for DN8 ~ DN25

* Blow-Out-Proof Stem Design

e Locking Device

* NACE MRO0175 is available upon request

) * Super Alloy materials for highly corrosive medium are
available upon request

SPECIFICATIONS

\ﬁ” L * Size Range DN8 ~ DN100 ( 1/4” ~ 4”)
B e / e End Connection Threaded / Socket / Butt Weld Ends
Sty gy M e m m w % © » Working Pressure PN63 for DN8 ~ DN50 /
P e ﬁﬁ ﬁ@ ®® 1000PSI (CWP ) for 1/4” ~ 27
SO PO for MBS - DIN10D 7

800PSI (CWP ) for 2-1/2” ~ 4”
e Steam Pressure 150 PSIG. Saturated Steam for PTFE.
* Temperature Range -4 to 356 °F (-20 to 180 °C ) for PTFE.

Butt Weld  Threaded / Socket Weld
oK~ TG

e A
s STANDARDS
R, ¢ Design EN-12516-1/2/3
* Mounting Flange ISO 5211
_ e Threaded End NPT/ BS 21 (BSP )/ BSPT / ISO 228-1
N . / DIN 2999/ 1SO 7-1Rp
- 5l ; e Socket Weld End ~ ASME/ANSI B16.11
2 T ® ———| PORTODBW « Butt Weld End ASME/ANSI B16.25
14 H ﬂi e Face to Face MFG / DIN 3202 M3/S13 e
° i EN1503-1
@@ : ) . Material _
g I « Pressure Testing ~ EN 12266
- — - — —PORT
% | CERTIFICATE
O ﬁw - ) PapTs e Quality Assurance  1SO 9001
@] i'@ * Material Certificate ~ EN 10204-3.1 MTR
O e 9 % « CE Approval PED 97/23/EC Module H
MATERIAL LIST DIMENSION unit : mm
MATERIAL PORT
NO. PART NAME ( more options available ) SIZE  ooome Lo | L1 | E | H|HT| oK Z |c|G|2/ sw | @D | BW
+ |sopy EN1503-1 1.4408
EN1503-1 1.0619 DN65 2-1/2”| 65 | 63 | 164.0| 85.0 | 26512139 | 70 [FO7|M8x1.25P|12|19|16| 77.0 | 63.0 | 73.0
4 |BALL ASTM A351 Gr.CF8M
5 [STEM ASTMAZ76 Cr.316 DN8O| 3" | 80 | 76 |182.7|101.5|265 134 |37 | 102 [F10|M10x1.5P|12|19|16 90.2 | 7.5 | 88.9
o |END CAP EN1503-1 1.4408
EN1503-1 1.0619
11 |BODY SEAL PTFE. DN100| 4" | 100 | 100 | 236.2 [122.0|272 | 175 |50 | 102 |F10|M10x1.5P|16|25/22|115.3|102.3 |114.3
12 | SEAT RTFE.(15%G.F.)
13 | THRUST WASHER PTFE. DIMENSION unit : inch
14 | STEM PACKING PTFE. - ‘
15 | GLAND SS304 SizE S L1 B | K H| e z |c|G|L2/sw| @D Bw
19 | HANDLE $S304
21 |HANDLE COVER PLASTIC DNG65 |2-1/2”| 2.55 | 2.48 | 6.45|3.34 |10.43 4.76 1.53| 2.75 |F07|M8x1.25P|0.47|0.74|0.62/3.03| 2.48 | 2.87
23 | HANDLE WASHER $S304
24 |HANDLE NUT $5304 z
28 | LOCKING DEVICE 55304 DN8O| 3" |3.14 |2.99|7.19|3.99|1043|5.27 |1.45 4.01/F10/M10x1.5P 0.47(0.74/0.623.55/3.05|350
35 | BODY BOLT SS304 g
£ |[EOHPOT- ] 2R = DN100| 4" |3.93|3.939.29|4.80(10.70(6.88|1.96|4.01 F10|M10x1.5P|0.62/0.98(0.86/4.53|4.02|4.50 12
37 |BOLT NUT $S304 z
&

© 2016 Modentic Industrial Corporation
X : 5 Modentic reserves the rights to change the contents without prior notice
No. 9, Wugong 6th Rd., Wufeng Dist., Taichung City 413, Taiwan (R.O.C.) Materials with the registered trademark designation ® are typical materials

md_sales @ms.modentic.com.tw

Tel : + 886 4 23317777 * Fax:+ 886 4 23317771 and owned by other respective companies



